
Woodman’s Parts Plus 
www.woodmanspartsplus.com 

Efel Duffel Oil Parts List 

1. 

1 15818 Top Plate Duffel 

2 RO131 Rope 14 mm dia. 100 Metre Roll 

3 FF0501 Screw Pan Head M5 x 20mm 

4 15817 Top Frame Duffel 

5 337 Catalyser 6 inch Mk1 

6 3113 Catalyser Support Ring 6 inch 

7 16306 Gasket Oil Burner Duffel 

8 199 Burner 6 inch Pot Mk1 

9 14618 Screw Self Tap Hex Head 

10 FF5001 M5 Washers Plain BZP 

11 28821 Decoking Assembly to Burner 

12 16149 Decoking Assembly 

13 16149 Decoking Assembly 

14 16149 Decoking Assembly 

15 15821 Cover Strip Left Duffel 

16 16297 Back Cast Unit Duffel Oil 

17 14618 Screw Self Tap Hex Head 

18 16300 Spigot Steel Flue Draught 

19 16303 Flue Draught Balancing Box 

20 2805 Draught Stabilizer 5in al Efel 

21 16307 Gasket Flue Spigot 

22 5796 Flue Spigot Cast Black Toledo 

23 14618 Screw Self Tap Hex Head 

24 16301 Protection Plate Oil Valve 

25 1489 Nut Domed Steel 5mm Duffel 

26 FF0500 Nut M5 BZP 

27 FF5028 M5 Stud 50mm 

28 14618 Screw Self Tap Hex Head 

29 FF5006 M5 x 20 Pozi Pan BZP 

30 16302 Baffle Firebox Rear Duffel 

31 16304 Bracket Oil Mounting (plate) 

32 FF5006 M5 x 20 Pozi Pan BZP 

33 MS001 Knob Complete for Oil Stoves 

34 MS001 Knob Complete for Oil Stoves 

35 16309 Rod Setting for Oil Valve 

36 6115 Split Pin 25mm 

37 16305 Indicator Plate Duffel Oil 

38 32807 Oil Valve Toby 4-12 cc 

https://www.woodmanspartsplus.com/


Woodman’s Parts Plus 
www.woodmanspartsplus.com 

 

 

38 26452   Oil Valve CI 4-12cc Kerosene 

39 15822   Cover Strip, Right Duffel 

40 2734   Couplet Connection from Oil 

41 112   Olive 

42 1504   Nut Oil Connection 

43 2733   Connection to Oil Valve 90 Deg 

43 1504   Nut Oil Connection 

44 1504   Nut Oil Connection 

45 15814   Base Plate Cast Duffel 

46 16262   Protection Plate Base Duffel 

47 5305   Handle Spacer for Shaft 

48 FF5009   M5 x 40 Pozi Pan BZP 

49 17446   Foot Nut Adjustable Duffel 

50 17446   Foot Nut Adjustable Duffel 

 

2. 

51  13366   Eccentric Screw Duffel 

52 13367   Door Catch Roller 

53 FF5001   M5 Washers Plain BZP 

54 16298   Front Panel Duffel Oil 

55 16278   Screw 

56 RO131   Rope 14 mm dia. 100 Metre Roll 

57 31586   Glass Seal Set Duffel Gas Oil 

58 15981   Glass Strip Duffel 1st>S&Centr 

58 15980   Glass Strip Duffel 2nd>Side 

58 15982   Glass Strip Duffel 3rd>Side 

59 31586   Glass Seal Set Duffel Gas Oil 

60 16919   Washer for Furnace Door Bolt 

61 5611   Bolt Furnace Door Latch Duffel 

62 16288   Handle Furnace Door Duffel 

63 15819   Door Furnace Duffel Oil Mfuel 

64 15842   Hinge Pin Duffel M/F 

65 15749   Rivet for Efel Badge 2.2mm 

66 13976   Badge (Efel) 

67 15805   Door Lever Fire Box Duffel 

68 MS38548  Glove Red Leather Pair 

69 40785   Paint Spray Cast Black Stove 

70 15812   Glass Clip Duffel Suits Top 

https://www.woodmanspartsplus.com/

